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Lesson 8: Applying the Double Angle Identities

The Double Angle identities are used when working with angles that are related to other

angles by a multiple of 2.

The Double Angle Identities

> We (ém /)nr‘/(, using  Suwm 0/ am;,&:

a0 -
y Arnbh e -
S s e O R
2
:(/~SJ/720<>_S’/70<

————— —

sin2a = 2sinacosa

= 2 i)
cos 2a = cos“a — sin‘a
cos2a=1-2sin*a

/[ — 25/,’720(

cos2a =2cos*a—1

2
taanx:ﬁa—ni Cos 2K = cos Sk — Sm A 3
1-tan?a oo (S )
=Qcos K — [

Example 1: Given angle 6 is in standard position with its terminal arm in Quadrant 3 and
sinf = —%, determine the exact value of each trigonometric ratio.

a) sin 26 = < B cos Z b) tan26 = 2./;,/)6
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E 2' Given angle @ is in standard position with its terminal arm in Quadrant 4 and
cos 6 = =, determine the_f each trigonometric ratio.
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Example 3: Write each expression as a single trigopnometric ratio, then evaluate where
possible. |
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Example 4: Rrrpvg;‘the following identities.
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Example She following equations over the domain 0 < x < 2,
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